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New system i.e. Question Paper Cum Answer Booklet (QPAB) will be introduced in the
coming Term End Examination. To get the candidates acquainted with the new system,
now assignment answer is to be given in the specific space according to the instructions.

Detail schedule for submission of assignment for the
BDP Term End Examination December-2019 & June-2020

1. Date of Publication : 14/02/2020

2. Last date of Submission of answer script by the student to the study :07/03/2020
centre

3. Last date of Submission of marks by the examiner to the study centre : 08/04 /2020

4. Date of evaluated answer scripts distribution by the study centre to

the students (Students are advised to check their assignment marks
on the evaluated answer scripts and marks lists in the study centre
notice board. If there is any mismatch / any other problems of marks
obtained and marks in the list, the students should report to their
study centre Co-ordinator on spot for correction. The study centre is
advised to send the corrected marks, if any, to the COE office within
five days. No change / correction of assignment marks will be

accepted after the said five days. :18/04/2020
S. Last date of submission of marks by the study centre to the
Department of C.O.E. on or before :20/04 /2020
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Answer any two questions :
1. a) ‘JﬂT‘TWC’J(le+x§+...+xr21)(y12+y%+...+y,%)2 (x1y1+x2y2+...+xnyn)2,
@ x;,i=1,2,...,n, y;,i=12,...,n I I R4 | 5
Prove that (xl2 +x§ +...+xr21)(yl2 +y§ +...+y%)2 (X191 + XoYg + ...+ xnyn)Q,
where xi,i= 1,2,...,n, yi,i= 1,2,...,n are real numbers.
b) @ b, ¢ ATV STV GG B AL ZET AN e
(a+b+c)(bc+ca+ab)>9abc. S

If a, b, c are distinct integers then prove that (a+ b+ c)(bc+ca+ ab)>9abc .

2. a) W OIRAI G 0 AT NN ET AN FEF cosnb+isinnd BT (cos 0+ isind)" -aF
@io A1 | 5
If nis rational and 6 is real then prove that cosn0+isinn0 is one of the values of

(cos®+isin®)".

b) it - AR e e | 5
Find the values of ii.

3. a) ORI @ 3x° —4x? +8=0 ANSACH GO Yo ST It < | 5

Show that the equation 3x° —4x2 +8=0 has at least two imaginary roots.

b) TN T :6xF +35x3 +62x2 +35x+6=0. 5
Solve 6x% +35x3 +62x2 +35x+6=0.

4. a) @ 9RO ¥ oM eifew 297 T2 Q2O WS A a®b=a+b-1,V a,beZ

QR a® b=a+b-ab,Va,beZ.
AN @ (2, ® , ©) @ RIFTTHCIN S5 9107 @ @A Z 7T 2O T | 5
Let two binary operations @ and O be designed on the set of integers Z
by a®b=a+b-1,V a,beZ anda®© b=a+b-ab,V a,beZ.
Show that (Z, ®, ©) is a commutative ring.

b) ORI (T @FF MR 297 e TR AT GFH 5@ 7o 910 I | 5

Prove that the set of n-th roots of unity forms a cyclic group under multiplication.




t@ &f QP Code : 20UA119EMT3

C

oee®

29 T€d / First Answer :

4 /20

B.Sc.-AU-16127




t@ f QP Code : 20UA119EMT3

5/ 20

B.Sc.-AU-16127




t@ &f QP Code : 20UA119EMT3

6 / 20

B.Sc.-AU-16127




t@f QP Code : 20UA119EMT3 7/ 20

o

ol Teq / Second Answer :

B.Sc.-AU-16127




t@ &f QP Code : 20UA119EMT3

8 / 20

B.Sc.-AU-16127




t@ &f QP Code : 20UA119EMT3

9 /20

B.Sc.-AU-16127




E
T
€

f QP Code : 20UA119EMT3 10 / 20 B.Sc.-AU-16127

oy
et —
Group - B
AP TS eless Tew ey 8 6x3=18
Answer any three questions :
5. AS BYb T T &N S (T
(i) (AUuB)¢ = A° " B¢ @}
(ii) (AnB)¢ = A° UB°.
For any two sets A and B prove that
(i) (AuB)° = A° N B¢ and
(ii) (AN B)° = A° UB°.
6. ARG =T | IM x2 = x V x e R X ORET 2N FPF R oG [QITNHCIT |
Let R be a ring. If x2 =xV xeR then prove that R is a commutative ring.
7. PIGER A0S KT FEF : xS —12x+65=0.
Solve by Cardan's method : x3-12x+65=0.
8. NI B S, f ST el (eT) SR W (aFsD) |
Prove that the symmetric group S; is not a cyclic group.
9. x'?2-1=0 AN RoT orefer e w5z |
Find the special roots of xZ2-1=0.
10. AW 76 2R @ 8 b-@F AL, d B, O& @A T 96 2R x € y AN A, T

d=ax+by Q|
If d is the g.c.d. of two positive integers a and b, then prove that there exists two integers
x and y where d =ax+ by .
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Answer any four questions :

fa = o~ n(n+1)
11, Sliffo SR siamfoq AR M 14243+ 4n=—"0—.
By mathematical induction prove that 1+2+3+...+n= % .

12.

13.

14.

15.

16.

17.

18.

T (T {97 FomTs LT o512 werzeet il 6 Q1< feret |
Prove that the product of three consecutive natural numbers is divisible by 6.

4 (G, 0) @6 W1 I (aob) '=alob 'Va,beG T ORE (AN @ ( G, o) Wb
RISy, @RE a8 b WEE @ PIE! 46 W |

Let ( G, o) be a group. If (aob)_1 =a"ltop! Va,b e G, then prove that ( G, o) is a

commutative group.

AN T ATSH vem e [fwmeely |

Prove that every cyclic group is commutative group.

oy W] WL Y& AR @RT 1 " (2,4, + ) QM6 AT " |

"

Write true or false with proper justification : "(z,+, * ) is a field".

f(x) I nTCST @0 AN 27 @R f(x)=xnf(%),wmcfw f(x)=0 @
2 AT AP TN B |

If f(x) is a polynomial of degree n, such that f(x)= x"f (%] , then prove that f(x)=0

is a reciprocal equation of first type.

T S=1(1,2,3,4,5,6,7) 0@ 1 o7 e @R f=G 2520 g)

Let S={1,2,3,4,5,6,7). Find f~! where f=G 25220 ;)

—-1 —i (P (NPS TP AP P |

Express —1 —i in polar form.
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